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QUESTION 1

This error is generated when attempting to import a certificate into a vRealize Automation appliance:
Certificate for doesn\\'t match common name of the certificate subject: 192.168.5.112

Which option is a possible cause?

A. The fully qualified domain name vra.vclass.local doesn\\'t resolve to 192.168.5.112.

B. The IP address of the appliance has been changed to 192.168.5.112.

C. The certificate was issued for the IP address instead of the hostname.

D. A PTR record for 192.168.5.112 is missing in DNS.

Correct Answer: C

Reference: http://vcloud4.rssing.com/chan-8585788/all_p191.html

QUESTION 2

Which three scenarios are available for the laaS database installation in a distributed vRealize Automation
environment? (Choose three.)

A. Prepare an empty database and use the installer to populate the database schema.
B. Prepare an empty database and download the database schema from the appliance.
C. Create scripts for the installation wizard to use in creating the database.

D. Use the installation wizard to create the database.

E. Create the database using the provided database scripts.

Correct Answer: ADE

Reference: https://docs.vmware.com/en/vRealize-Automation/7.0/com.vmware.vrealize.automation.doc/
GUID-43E6F49C-5B95-4BAA-B017-849E684936FC.html

QUESTION 3
What are two differences between blocking and non-blocking events? (Choose two.)

A. The return values from the vRealize Orchestrator workflow will be processed in blocking events and NOT in non-
blocking events.

B. vRealize Orchestrator workflows run is sequence, per request in blocking events and parallel in nonblocking events.

C. If vRealize Orchestrator workflow fails, both blocking and non-blocking events will fail.
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D. If vRealize Orchestrator workflow fails, blocking events will continue and non-blocking events will fail.
Correct Answer: AB

Reference: http://pubs.vmware.com/vrealize-automation-72/topic/com.vmware.|Cbase/PDF/
vrealize_automation_extensibility_migration.pdf (page 12)

QUESTION 4

What specific action must an administrator take before deleting an approval policy?
A. Deprecate the policy

B. Unpublish the policy

C. Deactivate the policy

D. Decomission the policy

Correct Answer: C

Reference: https://docs.vmware.com/en/vRealize-
Automation/7.4/com.vmware.vra.prepare.use.doc/GUID50D47707-10C1-471F-A61D-03F40246F89B.html

QUESTION 5

What role must an administrator use when adding a third party Identity Provider to vRealize Automation?
A. System Administrator

B. Business Group Administrator

C. laaS Administrator

D. Tenant Administrator

Correct Answer: D

Reference: https://docs.vmware.com/en/vRealize-
Automation/7.3/com.vmware.vra.prepare.use.doc/GUID-135436ACCF31-44A1-A358-61D2B68183AE.html

https://docs.vmware.com/en/vRealize-Automation/7.3/ com.vmware.vra.prepare.use.doc/GUID-93F7569C-
D228-4386-8B8D-324E110AFAF6.html

QUESTION 6

Which two statements are true when configuring redundant, high availability vRealize Automation proxy agents for one
vCenter Endpoint? (Choose two.)

A. Agent names must be identical

B. Agent configurations must include different vSphere credentials.
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C. Agent configurations must be identical.
D. Agent named must have the same root with the extension 01 and 02.
Correct Answer: AC

Reference: https://pubs.vmware.com/vra-62/index.jsp?topic=%2Fcom.vmware.vra.install.doc%2FGUIDODOFDCFE-
DF26-4168-A8DD-E29D058C066C.html

QUESTION 7

A fabric administrator has assigned three resource reservations to the same business group where two reservations
belong to the same reservation policy.

How does this configuration impact the environment?

A. Business group managers can only add items to the catalog that are assigned to the reservation policy.

B. Users will be able to choose the reservation policy when requesting to provision a machine.

C. Fabric administrators can use the reservation policy to restrict the resources used by the business group.

D. Blueprint authors can use the reservation policy to restrict the provisioning of machines to a subset of resources.

Correct Answer: D

QUESTION 8

Which best describes a resource action?

A. Resource actions configure post-provisioning operations that users can perform on a provisioned item.

B. Resource actions are a new type of provisioned item mapped to an existing vRealize Orchestrator object.
C. Resource actions are new actions that attach to a service.

D. Resource actions configure the properties of blueprints using VMware NSX.

Correct Answer: A

Reference: https://docs.vmware.com/en/vRealize-
Automation/7.3/com.vmware.vra.prepare.use.doc/GUID-29AC3184AF42-4EBE-8436-82C5B1506D96.html

QUESTION 9

A business group has two entitlements for the same catalog item. Each entitlement has a different approval policy and
priority applied. Userl is a member of the OnboardingGroup.
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Entitlement: Onboarding — External Entitlement: Onboarding — Internal
Business Group: Human Resources Business Group: Human Resources
Users and Groups: OnboardingGroup Users and Groups: User 1

Catalog Item1: Approval Policy B Catalog Item1: Approval Policy F

Entitlement Priority

01: Onboarding ?Internal

02:

Onboarding ?External

What happens when Userl requests a resource from the Onboarding ?Internal entitlement?
A.

The approver must select the policy to be used.

B.

The requestor is allowed to select their policy.

C.

Approval Policy B is applied to the requested resource.
D.

Approval Policy F is applied to the requested resource.

Correct Answer: A

QUESTION 10

Which approval level deploys a resource but withholds access until approval is granted?

A. The pre-request level

B. The pre-approval level

C. The post-approval level

D. The post-request level

Correct Answer: C

Reference: https://docs.vmware.com/en/vRealize-Automation/index.html#com.vmware.vrealize.automation.doc/GUID44

63B302-4365-4374-8954-7B582D34D41A.html?resultof=%2522%2570%2572%2565%2522%2520%%
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202522%2561%2570% 2570%2572%256f%2576%2561%256¢%2522%2520%2522%2561%2570%
2570%%202572%2561%2576%2522%2520%2522%256¢%2565%2576%2565%256¢%2522%2520

QUESTION 11

Choose the three Life Cycle states where the vRealize Automation request fails by default if the associated vRealize
Orchestrator workflow fails. (Choose three.)

A. PRE Requested

B. PRE MachineProvisioned
C. PRE BuildingMachine

D. PRE MachineActivated
E. PRE RegisterMachine
Correct Answer: BCE

Reference https://pubs.vmware.com/vrealize-
automation-72/topic/com.vmware.lCbase/PDF/vrealizeautomation-72-extensibility.pdf (page 41)

QUESTION 12

A vRealize Automation administrator needs to allow users to revert their machines to their initial
deployment state.

What should the administrator do?

A. Enable the Reprovision option in the blueprint.

B. Enable the Snapshot option in the blueprint.

C. Enable the Linked Clone option in the blueprint.

D. Enable the Destroy option in the blueprint.

Correct Answer: B

QUESTION 13

A tenant has requested a custom message in the vRealize Automation console. What role is required to make this
change?

A. system administrator
B. tenant administrator

C. business group manager
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D. support user
Correct Answer: B

Reference: https://docs.vmware.com/en/vRealize-
Automation/7.3/com.vmware.vra.prepare.use.doc/GUID-135436ACCF31-44A1-A358-61D2B68183AE.html

QUESTION 14

What is required before an XaaS blueprint can add a user to Active Directory?

A. The Active Directory domain has been added to the VMware Identity Manager.

B. A vRealize Orchestrator Plug-In for Active Directory as an endpoint.

C. A custom property that links the blueprint to Active Directory.

D. The tenant administrator has added the Active Directory domain to the list of Directories.
Correct Answer: B

Reference: https://docs.vmware.com/en/vRealize-Automation/7.3/com.vmware.vra.prepare.use.doc/GUID-
B96552A1871E-4B23-9EB0-18FD3CF7FDB1.html

QUESTION 15

A vRealize Automation Tenant Administrator has identified a virtual machine with low resource utilization. The owner
has been given 5 days to respond to the reclamation request. The blueprint used to build the virtual machine has an
archive period of 10 days and there are 21 days left in the original machine lease.

If the owner responds today confirming the virtual machine is no longer needed, how many days will elapse before the
virtual machine is destroyed?

A. 10 days
B. 31 days
C. 21 days
D. Today

Correct Answer: A
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